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* Each output line 1s same length.

By-pass capacitor 1 approx.0.1 uF places closely between Vce and GND.
By-pass capacitor 2 approx.10 uF places closely between power supply termunals on the board.
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By-passcapacitor #2: GND
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b) good condition

a) Bad condition
a) Example of wide spacing between wiring. High-ﬁ'ea}uency noise
# travels in a straight line and does not pass through the by-pass
#1 < capacitor.

b) Example of narrow spacing between wiring. High-frequency noise
is absorbed by the by-pass capacitor.

Crystal oscillator land pattern implementation example

Figure 2 By-pass Capacitor Implementation Example
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